
a) True. L
, MLz = Ly will give Ly EL ,

because of the

intersection. An example of when a subset of a regular language is

non-regular is (a* b* )
,
the subset being ↳ (ab") n =0) . However,

1
,
I = K

, meaning
there is a fixed number of strings that are in

4
,
while

lab* has an infinite set of accepted strings .

Since(
,
must accept a fixed number of strings, the graph of the DFA M

where I(M) = L
,
must not contain a cycle. If LzEL , the DFA

My such that2(M3) = Ly must be possible to create as it will contain

logic from M ,
but

any removals from the language can be dealt with by deleting
paths or creating new branching paths,

b) False. If L: Pad3 ,

that is
,

it only accepts the string ab
,

and

4: ab"/n203,
L
. U L = Jab"/n203

,

which is kown to be

non-regular.

c) True. For all non-regular languages L
, they can be seen as a subset

of*. However
,
&* is a regular language , and it can be modeled by a DFA which

has one state
,

an accepting state
,
and loops to itself on all inputs. Thus

,

&* is a

regular language that is a superset for all non-regular languages.














